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 General Instructions : 

i) The Question-cum-Answer Booklet consists of objective and subjective types of 

questions having 56 questions. 

ii) Space has been provided against each objective type question. You have to 

choose the correct choice and write the complete answer along with its alphabet 

in the space provided. 

iii) For subjective type questions enough space for each question has been 

provided. You have to answer the questions in the space. 

iv) Follow the instructions given against both the objective and subjective types of 

questions. 

v) Candidate should not write the answer with pencil. Answers written in pencil 

will not be evaluated. ( Except Graphs, Diagrams & Maps ) 

vi) In case of Multiple Choice, Fill in the blanks and Matching questions, 

scratching / rewriting / marking is not permitted, thereby rendering to 

disqualification for evaluation. 

vii) Candidates have extra 15 minutes for reading the question paper. 

 

I. Four alternatives are given for each of the following questions / incomplete 

statements. Only one of them is correct or most appropriate. Choose the correct 

alternative and write the complete answer along with its alphabet in the space 

provided against each question. 15 × 1 = 15 

1. The correct list of the architects of the victory of the Second World War is 

 (A) Churchill, Truman, Stalin, De Gaulle 

 (B) Hitler, Lenin, De Gaulle, Stalin 

 (C) Truman, Churchill, Stalin, Roosevelt 

 (D) Churchill, Lenin, Stalin, De Gaulle. 

Ans :   
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2. The main feature of Mahalwari system was 

 (A) revenue was fixed on the basis of area of the land holding 

 (B) revenue was fixed on the basis of fertility of the soil 

(C) the Mahaldars and the cultivators were jointly responsible for paying 

revenue. 

 (D) revenue was fixed on the basis of irrigation facilities. 

Ans :   

3. Songolli Rayanna organized band of fighters and attacked the English with a 

view to  

 (A) take revenge on the British  

 (B) drive away British from India 

 (C) become the ruler of Kittur himself 

 (D) instal the adopted son of Rani Chennamma. 

Ans :   

4. In the post independence history of India Sardar Vallabhbhai Patel is always 

remembered because he 

 (A) was the Home Minister of India 

 (B) merged the princely states with the Indian Union 

 (C) helped the liberation of Goa 

 (D) made the states reorganization. 

Ans :   
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5. The memorable contribution of Stalin to the economic development of Russia is  

 (A) introduction of Five-Year plans 

 (B) abolition of feudalism 

 (C) development of military power 

 (D) establishment of dictatorship of the proletariat. 

Ans :   

6. Intolerance towards the people of other religions is  

 (A) Regionalism 

 (B) Socialism 

 (C) Liberalism 

 (D) Communalism. 

Ans :   

7. The Java of India is 

 (A) Mumbai 

 (B) Raniganj 

 (C) Gorakhpur 

 (D) Chota Nagpur. 

Ans :   
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8. The bonded labour system was abolished in the year 

 (A) 1972 A.D. 

 (B) 1976 A.D. 

 (C) 1978 A.D. 

 (D) 1982 A.D. 

Ans :   

9. Another name of household industries is 

 (A) Cottage industries 

 (B) Manufacturing industries 

 (C) Local industries 

 (D) Small scale industries. 

Ans :   

10. The Western Ghats have influenced the climate of India in  

 (A) helping growth of dense forest 

 (B) providing attractive hill stations 

 (C) causing heavy rain from the South-West monsoons 

 (D) providing shelter to wildlife. 

Ans :   
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11. The unique feature of monsoon forests is 

 (A) the trees are always green 

 (B) trees shed leaves at the beginning of summer 

 (C) trees have pendant roots 

 (D) the trees are short with deep roots. 

Ans :   

12. Petroleum is called ‘liquid gold’ because 

 (A) it shines like gold 

 (B) it is used in all economic activities 

 (C) it is more valuable than gold 

 (D) it is highly inflammable. 

Ans :   

13. The most important document for shaping the present Constitution of India is 

 (A) Regulating Act 

 (B) Pitts India Act 

 (C) Minto-Morley Reform 

 (D) The Government of India Act of 1935. 

Ans :   



 7 85-E  

9800000  [ Turn over 

14. The purpose of constituting ‘Lokayukta’ is to 

 (A) fight against corruption (B) check the smuggling 

 (C) control dowry (D) eradicate poverty. 

Ans :   

15. The purpose of the Biological Weapons Convention of 1975 is 

 (A) prevention of nuclear test in space and under sea 

 (B) prohibition of military activity in outer space 

 (C) ban supplying nuclear weapons to other nations 

 (D) prohibition of producing of biological weapons and stockpiling of them. 

Ans :   

II. Fill in the blanks with suitable answers :   5 × 1 = 5 

16. The French East India Company was established in ….…………………………… . 

17. Ancient Mesopotamia is modern …………………………………………… . 

18. The scheme enforced for the development of rural women is …………………… , 

19. The highest rainfall region in Karnataka is …………………………………………… . 

20. The organisation established to distribute the essential commodities through 

fair price shops is ………………………………………………… . 
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III. 21. Match the items in List-A with List-B. Write the correct answer in the space 

provided :    5 × 1 = 5 

 List-A  List-B 

 (a) Arya Samaj (i) Raja Rammohan Roy 

 (b) The Indian Council Act (ii) Tarabai Shinde 

 (c) Brahmo Samaj (iii) Minto-Morley 

 (d) Stri Purusha Tulana (iv) Communal electorate 

 (e) The first Governor General (v) Dayanand Saraswati 

  (vi) Dr. B. R. Ambedkar 

  (vii) Warren Hastings 

  (viii) Competitive Examinations 

 

 Ans. : a)   

  b)   

  c)   

  d)   

  e)    
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IV. Answer the following questions in a sentence each :  9 × 1 = 9 

22. Why did Franklin D. Roosevelt introduce the ‘New Deal’ ? 

  

  

23. Who is called as ‘Lion of Punjab’ ? 

  

  

24. Where is the headquarters of UNO situated ?  

  

  

25. When did UNO declare ‘Human Rights’ ? 

  

  

26. Who wrote the book ‘Mein Kampf’ ? 
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27. Which is the oldest and still existing newspaper of India ? 

  

  

28. What is ‘Green Revolution’ ? 

  

  

29. Which is the National Bird of India ? 

  

  

30. What is the reason for setback of SAARC in recent years ?  

  

  

V. Answer the following questions in two sentences each :  16 × 2 = 32 

31. Tipu’s dominance started declining after the third Anglo-Mysore War. How ? 
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32. The Quit India Movement in Isur was quite different. How ?  

  

  

  

  

33. What are the steps taken by the Government to solve the problems of refugees ? 

  

  

  

  

34. What were the achievements of Sheshadri Iyer ?  

  

  

  

  

35. What was the reason for the IInd Gulf War ? What was its result ?  
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36. English education developed nationality among the Indians. How ? 

  

  

  

  

37. What is dowry ? When was Anti-dowry Act passed ? 

  

  

  

  

38. What is European Community ? What are its notable achievements ?  
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39. How do you say that India has expressed its friendship even after China 

attacking on India ?  

  

  

  

  

40. What are the differences between east coast and west coast ?  
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41. Which is the ore that India has monopoly over its production ? What are the 

uses of this ore ? 

  

  

  

  

42. Consumption of cement is the index of the country’s progress. How ?  

  

  

  

  

43. Why is inland waterways losing its importance nowadays ?  
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44. Why did the League of Nations fail to serve its purpose ?  

  

  

  

  

45. How do industries cause the development of agriculture ?  

  

  

  

  

46. What were the causes for the failure in agricultural field during the IVth Five-

Year Plan ? 
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VI. Answer the following questions in six sentences each :  6 × 3 = 18 

47. What are the steps taken to the prevention of soil erosion ? 

  

  

  

  

  

  

  

  

  

  

48. What is mixed farming ? What are its main characteristics ?  
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49. What are the measures taken by the Government to attract children to the 

primary schools ?  

  

  

  

  

  

  

  

  

  

  

50. What were the causes for the decline of the Portuguese ?  
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51. Enumerate the causes for the failure of the uprising of 1857. 

  

  

  

  

  

  

  

  

  

  

52. From the beginning of the Five-Year Plans India is facing adverse balance of 

payment. Why ?  
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VII. Write the answer to the following questions in about eight sentences each :  

     3 × 4 = 12 

53. Describe the role of Subhash Chandra Bose in Indian National Movement. 
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54. How do you say that the relation between India and Pakistan is not cordial ? 
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55. What are the measures taken to improve Indian agriculture ?  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



85-E  22 

9800000 

VIII. 56. Draw an outline map of India and locate the following places : 1 + 3 = 4 

 a) Mumbai 

 b) 82 
1
2 

o
  E. longitude 

 c) River Kaveri. 
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 Alternative Question for Blind Candidates only : ( In lieu of Q. No. 56 )  

 What are the uses of Himalayas on the life of the people of India ?  4 
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